
Відповіді до практичних завданнь заняття №7 на тему: 

 

««Коло. Довжина кола» 

 

1. А) OP, OM, ON, OK, OC. 

Б) MC, PK. 

В)𝑶𝑨 < 𝑹,𝑶𝑩 > 𝑹,𝑶𝑪 = 𝑹 

2. 10π см 

3. 10π дм 

7. 2 см 

8. А) 2,5π см, 36π см, 0,24π м 

Б) 10π см, 7,2π см, 0,8π м 

9. 4∙25∙2π=200π≈628 м 

10. ≈3,5 м ( підставити π≈
𝟐𝟐

𝟕
) 

11. 3∙2π=6π≈18,84 км 

12. Півколо за 30 хв, чверть за 15 хв 

16. (6370+70)∙π:1200≈33,4 год 

17. (36000+6400):24=1766,7 (км/год) 

18. 11 см 

19. ≈11,14 см 

20. 3, 14∙0,0008∙800:
𝟏

𝟑𝟎
 ≈60,3 (км/год) 

 
 


